Upper left . ‘ .
corner CSc 372, 11/16/06; Quiz 12; Time: 2:00; Value: 2 points

1. Write the well-known member (?Elem, ?List) predicate. Your
implementation may use no predicates other than those you write yourself.

?- member (2,[1,2,3]).
Yes

?- member (X, [1,2,3]).

X =1 ;
X =2 ;
X = 3 3
No

If your implementation is as concise as possible, you'll earn a point of extra
credit!

If your 1ectura login is not in the upper left hand corner of your paper,
you'll lose a point! (See placement guide, above left.)
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